
Quiz 4 solutions

Beam must have zero deflection and zero slope 

at wall. Also, the deflection between the roller 

and the wall is NOT zero.

DETERMINATE structure. Internal loads do NOT 

depend on material properties.
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Problem 2
The correct state of stress for 

each of the five points on the 

cross-section.



Points “a” and “c” are on shear-free 
surfaces. Therefore, the shear stress 
there is zero.

The areas of the two are the same. 
Cross-section #2 has area distributed 
further away from the neutral surface. 
Hence, its value of I is larger.


